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1. The first modern judicial court in India

Presided over by Elijah Impey was set up
in

(A) Murshidabad
(B) Patna
(C) Kolkata

(D) Dhaka

/2/ Themotto, “Yato_dharmastato Jayah” has
been adopted by

(A) TheLok Sabha of India
(B) TheRajya Sabha of India
(C) The Constituent Assembly of India

(D) The Supreme Court of India

e s an institutional arrangement to
| keep Science, Society and Industry on the
same page” was said about

(A) ThellTs

(B) The Department of Science and
Technology

) The TIFR

D) Thecsr

CSP-1/p

MRS QAT TRITEIER AINSR 929 apge
MIBS 2QR9 6aK0I6R GIaR aIaIReR) 9

(A) qdeQie
(B) aiee!
(C) saiReel

(D) e

‘9601 uel geol 9as’ QAT QIAIQIQ ged
QARG ?

(A) «Ueea sRIeasl
(B) wieea qigyasl
(C) wiees aRuGe awl

(D) «ieeq acdie aygiea

QRIQ, AAIS 6 Fgq ANFQFISA IQI0 QYR
4R QYRR NRP! Q1R QAAIRT |

(A) aR2a%
(B) %m0 6 63Fade GaId
(C) TIFR

(D) CSIR




/

4.

e

Direct Action Day refers to

(A) The day ear-marked by the Muslim
League for taking direct action to
assert their political demand for a
separate homeland for Muslims

(B) The day ear-marked by the Indian
nationalists to oust the British
from India

(C) The day ear-marked by the

Scheduled Castes Federation to
protest against social injustice

(D) Allthe above

One of the earliest mentions of
Bharat _varshais in

(A) The writings of Ptolemy
(B) The writings of Fa Hien
(C) The Hathigumpha inscription

(D) TheAjanta Caves

6~ This place is known as the city of caves

(A) Ajanta
(B) Ellora
(C) Udayagiri

(D) Gharapuri

CSP-1/D

gous QFeq Q6w @'a 9N ?

(A) qgeeaRqes aid Q2] QIagie aIesd
(ARadq QR geia QIdy @QQ! 6a%

o%e @

(B) @19q Sr6asq 261ae a8 QIRETd
QITIGSIRIFIAIGE Il 5]6 @99

(C) anige zevo Feaea 2gqee ¢
A2I99 QIR %6 @eq

(D) @saig Q3

QURERER PR MLLIQ 6QAYEA S2IAT 7
(A) cexfis sxdl

(B) cRaies sxdl

(C) we1gs 286as

(D) agegsm

60Q 28R ‘QMQ 927’ QIee 9l ?
(A) 2gsl

(B) wsmiQl

(C) @eadd

(D) aeqd

[P.T.O.
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“K attaka caves” referred to, among others
P.  Hathigumpha and Ranigunmpha
Q. KumariParvata

R, Alakapurigumpha

S.  Mahendragarh

(A) P,QandR but,notS

(B) PandShbut,notQandR

(C) PandQbut,notRand S

(D) P,QRandS

The Kalinga Prize is given for
(A) Achievements of a scientist

(B) Achievements of a science
popularizer

(C) Achievements of a geologist

(D) Achievements of a mathematician

The achievements of Pandit Gopabandhu
Das are in the field of

(A) Science
(B) Law
(C) National Movement

(D) All of the above

CSP-1/D

¢

‘QEQ TR AN 68RAQY TRIRAN ?

P. Qe1gs 6 auaigsl

Q. geIe1 aee
R aeqiQar g
S.  qeegee

(A) P,Q6RG@g Sqsd
(B) PeS@ag QBRgss
(C) PeQ@a@g ReSgee

(D) P,Q,RaS

QRT golIa 62V F2IAN ?
(A) <64 sImiGes QOQ

(B) o6a3rieg eaeda edaQl 4336aas
9]

(C) =68 9pRees q8e

(D) «6a adiore q6Q

69I9Q Q1A 676 6HGER o] GOIR FAAER 7
(A) Qme

(B) aige

(C) wwe10 2ieiee

(D) easaig ag



10.  Zero Casualty At Any Cost (ZCAACQ)is

a principle followed by

(A) The United Nations
(B) NATO

(C) Government of Odisha

(D) SAARC

Porus is said to have gifted Alexander a
(A) box of mangoes

(B) diamond

(C) block of steel

(D) cotton shirt

The famous architect Bisu Moharana is
associated with

(A) SunTemple at Konark.
(B) TajMahal.
(C) Brihadeeswara Temple

(D) Rathas at Mahabalipuram

10.

11.

12.

GEJE@G]@ R6ea a4 Qeeaieel (ZCAAC)
210Q @4 g8 Q8s ?

(A) &% aivag
(B) 61 (NATO)
(C) eG4l aeea

(D) <a<(SAARC)

216A]RIIAF Y 699 AAAR 6TAYER 7
(A) 21988 ¢@

(B) <

(C) Q@ we

(D) gelQie

gde dgl/9at 94 ALIQdI @IV 942 A°YY ?
(A) eaiqaIea gdiARa

(B) ceae

(C) qeseqa ARke

(D) A2IeeIgena a2

[P.T.O.



13. At the end of the Civil Disobedience

Movement Gandhiji took out a padyatra
against untouchability. His first padyatra
was undertaken in 1934 in

(A) Nagpur
(B) Noakhali
(C) Jharsuguda

(D) Thanjavur

14. The infamous Rowlatt Act was opposed

by Indians because it provided for

(A) trying of sedition cases without a

Jury and holding suspects in jail
without trial

(B) opposing the Indian national

movement

(C) hampering the economic growth of

India

(D) all of the above

Which of the following bauxite deposit
is considered as the largest one in India?

(A) Riasiand Poonch deposit (Jammu

& Kashmir) J

(B) Panchpat mali deposit (Odisha)
(C) Gandhamardan deposit (Odisha)

(D) Balaghat deposits (Madhya

Pradesh)

CSP-1/D

13.

14.

15.

QR AAIRY VIERAINAR CHTCA ATSN, 2gqyq,
TEARIE] IR AQUIGI FAYSA | QIeq Q29
aeaigl 1934 6a 6240 s2IRAR 2

(A) <lIOg
(B) qaa@
(C) «egge

(D) em=miga

ada agiae, 2iae (Rowlatt Act) ]
QUANANIER 6RAYAIA FERUX AQLER 7

(A) 912 IQ 6246QI2 AN B 371 IQING
Qg FAPY

(B) wueeia 21914 Q°gIAg 61
(C) sueca 218e IQEEx QI

(D) <asaig ag

FORYE SRAIRG gR AIRGY 6a6e AIAGED
Q2e Ee Fola AN ?

(A) @21@ 6 9] a°ge (RI1g 8 |IF1S)
(B) asae a@ a'ge (6841
(C) esqide age (6§41

(D) QIRIAIS A°gL (A26T4)



16. Which states share the Tungbhadra

16. q@eQ egqen 3 -
Multipurpose project? SR 298] 69 aiey i @iz 7

(A) 218gseq 6 o4
(A) AndhraPradesh and Karnataka AeR

(B) Karnataka and M.P.
(C) Odishaand Jharkhand
(D) Tamil Nadu and Kamataka

(B) <diee 6 augees
(C) 6316 aioug

(D) edeeg 6 egige

17. Match List I with List Il and select the | @~ °='l 92 6@ Il @ a'saia ea 6 oigera

f}?errﬁgs ?nswer using the code given below g;z Z‘ﬂaIEJ'IQ&QI 6RI¢ QIR @F A0k 28w
List I List I ool I oRel I

(a) Chinook l." USA @) %= L. Qoaig zisnde
(b) Sirocco 2. Australia (b) @saser 2. zegam

(c) Brickfielder 3. Europe () RT3 geam

(d) Mistral 4.  Africa (d) agm 4. aige

Codes :

69i1¢ (Codes) :
@@ ®) (c) )
A 1 4 2 3
T 4 1
© 3 2 1 4
@ 4 1 3 2

@@ () (¢ @
Aa 1 4 2 3
B) 2 '3 .
© 3 2 1 4
4 1 3 2

The only landlocked country in south- | 18- 6992 efe-q< 132Ia GORER]E 624 6208

east Asiais : (A) @ueq
(A) Laos (B) eaieQie
(B) Thailand (C) &veaq
(C) Vietnam (D) eenidal
(D) Cambodia
4 [P.T.O.
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L 19. Match List I with List II and select the
correct answer using the code given
below the Lists:

List I List II
(Australian States)  (Cities)
(a) Queensland 1. Adelaide
(b) SouthAustralia 2. Brisbane
(c) Victoria 3. Kalgoorlie
(d) Western Australia 4. Melbourne
5. Sydney
Codes :
@@ () (c) (@
Aeksind wdsoild
B) 3 11 (12 (44
© 2 ‘T 4 %3

D) 1 SEEINNS

20.  Which one of the species is an example
of extinct species?

(A) Asiatic Cheetah
(B) Black Buck
(C) Crocodile

(D) Indian Wild Ass

CSP-1/D

19. o@de I ag eRel I @ a°6a19 eq ¢ 0%

20.

~ N
60 FAUYINARN 6L NV @7 Mg %
Q9 @ |

gl I eixel IT
(26gRz AMNGFR) (ALQYPR)
(a) qReRYIe 1. 216QRIAQ
(b) <@aasgRan 2. §969R
(c) @@ 3. QRgd
(d) ofazegdan 4. cAQeQq
5. Qgd

621¢ (Codes) :

@ () (c) (@)
A 2 5 4
125 T R S N
. 1 .4 .3

D)1 8 3.5

PARNYE QRIS ARIQ 69UE Y 9RIER RQILE
266 2

(A) <349ER o0l
(B) q8aeqa
(C) qaw

(D) «ueeia €y al



o

21.

22.

Which one of the following pair is not
correctly matched?

Month Position of Sun

(A) June Midday Sun overhead
at tropic of Cancer

(B) December Midday Sun overhead
at  tropic  of
Capricorn

(C) March Midday Sun overhead
on Equator

(D) September Midday Sun overhead

on Arctic Circle

Which one of the following term
describes not only the physical space
occupied by an organism, but also its
functional role in the community of
organisms?

(A) Ecotone

(B) Ecological niche

(C) Habitat

(D) Homerange

CSP-1/D

21.

22,

Q96a FuIAIReR caBaIRE ARAY6Q 6996 O]
6ARQ Q6% 7

aiq IS G

(A) 8 AR 9dly adegida
98 agsq

(B) @eana AT YN ARAQIER
Q8 Qa6Q

(C) «ag A4GRQ Qdy Sgesad|
Qa6a

(D) eeqne AT eQ qdy geaq

14e QU6

ARG AINQ 69RT 6AITN F1Q QA 689
AINNTR GRQ AYFEQ YR W6 QIF, 92! 19Q
A°A6R I2IQ QLY RAQ FAAG AN AR 96R |

| (A) wswies1q (Ecotone)

(B) wseisnidai) @ (Ecological niche)

(C) zQags!

(D) qe adQe

[P.T.O.




/23.

24,

In the grasslands, trees do not replacet thi
grasses as a part of an ecologica
succession because of

(A) Insects and fungi

(B) Limited sunlight and paucity of
nutrients

(C) Water limits and fire

(D) None of the above

With reference to the food chains in
ccosystems, which of the following
kinds of organism is / are known as
decomposer organism/organisms?

1. Virus
2. Fungi
3. Bacteria

Select the correct answer using the codes
given below.

(A) 1only
(B) 2and3only

(C) 1and3only

(D) .1,2and3

CSP-1/D

23. Qa9fca Q8 AIQ 9P} IR AIRYEq 25,
4R 2°9 QUES URAR F6Q AT Qigg

(A) o196 o@ (Fungi)
(B) Qg 994@e4 6 69199 ogq 2010

(C) qesr62q

(D) @aeaig auig 6aed ges

24. 6@ @7 (Ecosystem) 6a wioy 4
URIRER, GYER FAAIRYRI F19AFG 7
6R4E 2AATR 12 NER REIGEI ?

1.  eeq
2. @@ (Fungi)
3. Queqaal

GE6Q 9eR 6RIG eI 98 20K @9l
Qa |

(A)

6aeq 1

(B)

6Qee 283

(©)

gaae 163

(D) 1,263

10



25. Which one of the following is the | 25. QNS 939l QIeS ANg sada T6c1T6adqa
process involved in photosynthesis? 23S 26T |

(A) Potential energy is released to (A) 29983 99 68 gsa ade 24
form free energy

_ (B) €8 68 S99 43sa adede gu o
(B) Free energy is converted into QTS A6
potential energy and stored

(C) aeieQiq 68 9@ Ade edeeq oy
(C) Food is oxidized to release carbon AFPIRR R6Q

dioxide and water

| (D) zqeie gea eaiara e AFIQQIE), 6
(D) Oxygen is taken, and carbon QIFIILR QAIQ *AUAI
dioxide and water vapour are given
out

26. T9R4Q @ 010 9a |
¢ 26. Consider the following :

l.  aeee
1.  Carbon dioxide
2. Oxides of Nitrogen 2. RI96QI6RR Q 29190
3. Oxides of Sulphur 3. QQ@q @ a2qiee

Which of the above is/are the emission/ QUCAIY AIQ 695 261 AIGIR YeER 6aI0q

emissions from coal combustion at e2eq ade g4 |
thermal power plants?
A Lasly (A) eeee 1
(B) 2and3only (B) 6eee263
(C) Tand3only (C) eeee 163
(D) 1,2and3 _

‘ (D) 1,263

CSP-1/D 11 e



27. Whichofthe following eart.hqu?ke waves
g are more destructive at the epicenter?

( A) S waves

(B) Pwaves

(C) Rwaves

(D) Lwaves

28. Jhumming cultivation is known as
‘Kuruwa’ in which region/state?

(A) MadhyaPradesh

(B) AndhraPradesh

(C) North-eastern Region

(D) Jharkhand

CSP-1/D
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28.

27. BOAYe AUIQ 699 QALK oo Axyseg

2@ [C [ ?

(A) 49 eae

(B) G cae

(C) g oo

(D) 4@ oo

69U 28R/QU¥6a A° o19 (Jhum

cultivation) Qa1 (Kuruwa) ¢
e€IgaI |

(A) aaigses

(B) =1ggeqw

(C) eea-qe-28e

' .(D) T



29. Match the following :

(a) Loess 1. Riverdeposits

(b) Moraines 2. Glacier

deposits
(c) Gravels 3. Wind deposits
(d) SandandClay 4. Seadeposits

Codes :
@ ®) © @
A 1 N

B 3= Bl g
0 o boiBos 2
D 3 4 1 2

Which of the following terms were not
the terms of 'August Offer - 1940'?

(1) ANominated Indian Body would be
formed after the War to frame the
Constitution

(2) Dominion Status was not the
objective of India

(3) More Indians representation in
Viceroy’s Executive Council

(4) AnAdvisory War Council was to be
established

(A) 2and3
(B) 3and4
(C) land2
(D) land4

CSP-1/D

13

29,

30.

AURYS @ 60190 99 |

(a) emraq 1. Qa1 a°qeie
(b) eqicaq 2. 09I ageie
(c) gieam 3. Qg a'gere

d) <Rsa@ 4, ARQ/A9Q A°g1e
6QIQ :
@ (b) () (@
A1 2 3 4
B)3 2 1 4

€ 4 1

W
[\

@ $°%

—
(]

FARYe 6ed adgse ‘29g ggie 1940’
(August Offer - 1940) @ z218gg q¢$ 2

(1) Q=asa 6a1Ew AsRIRIG RIReIa aGae
QAIIF G0R QIR FIQIAR

(2) Qerade ane QIeea 2B ged

() weeeae qd@dier adsesa zye
WAGIAE gORAQ

(4) sqif9 ge 90609l Q9EQ Q0§
RAUAIRAR

(A) 263
(B) 364
(C) 162

(D) 164

[P.T.O.




3’( Which of the following statements are | 31. ‘QRu@e agau’ (Constituent Ass

not correct in respect of ‘Constituent aRega1eq, F6qI8 6QR AQIYIR o] ;
AdeD (1) anuEeas as, 1946 gaq.,
(1) Elections to the Constituent aolee 62IRaMI

Assembly were held in July-August,

(2) «Ueela RIS Q°69Q, 208;
1946 ol
2 ggg ISn:;Sn e s (3) qQRARe 738 2iAe Foaa

(3) Muslim League won 73 Seats (4) e9eie 28R 936 2137 FRgg

(4) Princely States won 93 Seats A) 1,263
(A) 1,2and3 (B) 2,364
(B) 2,3and4 (C) 1,364
(C) 1,3and4 (D) 1,264
(D) 1,2and4

32. Which of the following matchings are | 32. S9R4e 60d 6AIGYER QIGGIA QA
not correct in respect of Schedules and 6 390 aQ6ga16a O] 96 ¢
Subjects in Indian Constitution?

QIR 2s9
schedules = (1) I aiaea C 6 A
(1) I Emoluments for b,
C &AG of Indi . ‘
- (2) m QIey adeeq
(2) II Allocation of i e
Seats in Council )
of States (3) M 20456 698
gaIae 6 89
() VI Administration ﬂ
and Control of 4 K Ueste Al
Scheduled Areas Qe8I
4) X First Amendment (A) 162
of Indian Constitution (B) 263
(A) land2 ) 264
(B) 2and3 | (D) 364
(C) 2and4
(D) 3and4

CSP-1/D 14



33. Which of the following statements are
correct in respect of Electoral College

in India to elect President of India?

(1)

)

3)

“4)

©)

It consists of Elected Members of
Legislative Assemblies of
National Capital Territory of
Delhi, and Union Territory of
Puducherry and were added to
Electoral College by 70®
Constitutional Amendment

The number and values, of votes
are based on the population of
1971 Census of India as per 42
Constitutional Amendment

84™ Constitutional Amendment
fixed the values of votes based on
current population Census 2011

The entry of MLAs of NCT of
Delhi and Union Territory of

Puducherry came with effect from
June 1, 1993

(A) 2and3

(B) land4

1 and 2

(D) land3

CSP-1/D
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33, QI96Q AFATS GSige QA A6RE
9AEEQ 06919 604 aFqpe o]

QR F6RR
?

(1) wea 6QQ4IAG 2o Q3697 6 QIe1e

(2)

3)

4)

(A)

(B)

©

(D)

AN 280 QA GdiGe QuIORqR
USYY 8 QAR 7009 QeqNe

UYAIN AER6QYAIR R6RRG 6QITe

QALY 4209 Q6aNG AQQIN QI

1971 ecaaq! 211960 6RUTA A°HYI @
R Gqde

QAuIfe 84 ea asaiue, 2011
FRGGRI 2ARIGER 6RIAT AR Fa1qe

1993, g8 1 Q @q1a NCT 6 cenaide
AER JPSOAR UIORS 2SR

263
164

162

163

[P.T.O.



34. Which of the following statements are
~ correct in respect of the genesis of the
‘Doctrine of Basic Structure of

Constitution’?

(1) This doctrine was first propounded
by Supreme Court in Shankari
Prasad Vs Union of India Case
In Sajjan Singh Vs State of
Rajasthan Case Supreme Court
held that Parliament could amend
any part of the Constitution
In Golaknath Vs the State of Punjab
Case Supreme Court ruled that Art.
368 only lays down the procedure
to amend the Constitution but does
not give an absolute power to
Parliament to amend any part of the
Constitution
In the case of Waman Rao Vs
Union of India Supreme Court set
aside the basic structure doctrine
(A) land3
(B) 2and3
(C) 2and4
(D) land4

(2)

(3)

4)

35. Which Four Articles of Indian
Constitution among the below given
Articles were added to the Indian
Constitution by the 42 Constitutional
Amendment Act of 1976 ?

(1) Art.24(A) (2) Art.28 (A)
(3) Art.39(A) (4) Art.43 (A)
(5) Art.46(A) (6) Art.48(A)
(7) Art.144(A)  (8) An.323 (A)
(A) 1,3,5and7

(B) 3,4,6and7

(C) 2,5,7and 8

(D) 1,3,5and 8

'SP-1/D
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34.

3S.

06019 69 QYL QIR sdlag Qg

(Doctrine of Basic Struculre
Constitution) gaerea 0) ?

(1) <2 deis, gaea a6qie SHIDIgg
Q1 gL IQIF 698 ARG Rl
quIgIal

Q6P RUAIRD ARE & aqpq Q
QIR AINRIER °AR, ARG gq
2°8 A°CHRIT RAAITER gqiq

(2)

6RRIYEN

(3) 60IM@IE QR AR QIgy QU
Q61T MIAING QI 69R6Q ¢o
368 62 6@9@ QRIS AcaIeg
28, @5 A°A9g AAIIFA 64 63lga
eARIS AIRQ G VD! Qa1

(4) 6AIR QB RIA 698 A9 el
Q6QIL IARA 661 G10R Gagg
Qe

(A) 163

B) 263

(C) 2284

D) 164

Q6AIQ 604 QIGcaIT AU, AVSIG @
42¢q qaag QedalRIe a1l 1976 ai
ASYS 62AR3ARI ?

(1) uqi24(A) (2) w28
(3) uR39(A) (4) uwdl
(5) ued6(A)  (6) a4
(7) uei 144 (A)  (8) wial.3]
A) 1,3,587
B) 3,4,687
(©) 2,5,768
D) 1,3,508



36.  Which of the following statements are

not correct in respect of Union List of

Seventh Schedule of Indian Constitution?

(1)
(2)

3)

(4)

(A)
(B)
(€)
(D)

There are 100 subjects in the List

This List signifies Co-operative
Federalism

There are 15 subjects in the Union
List on which Parliament has an
exclusive power to levy Taxes

The Supreme Court has no
jurisdiction over the matters in
Union List

land3
1 and 4
2and3
2and 4

37. Which of the following are Non-
Constitutional Bodies in India?

(D
2)
3)
4)
()

(6)

(A)
(B)
©
(D)

Tribunals

National Investigation Agency
Competition Commission of India
Law Commission of India

National Commission for Scheduled
Tribes

Comptroller and Auditor General
of India

1,5and 6
2,3and 4
3,5and 6
2,4and 5

CSP-1/D
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36. F6qI9 624 @39Ee, alaea QARIIRQ Aga

37.

961 ARNBER 608 QIRQ 2gaIal O] g6 ?
(1) eReea 100§ daa 25
(2) <RE aaQIg LAY oI

(3) eegeiReica 15 & wad 3eg 23 qial

QUEQ A°AQ Yo7 TSI 9969 Ty
@QQIqe

(4) 6eguRe ITA6R QTP IR sTad
2¢689 Q0QIRe Q@

A) 163
B) la4
€) 263

(D) 264

FaAAIQ 6299Ee RINGER 2GRN
aq8e ?

(1) SgueQ

(2) eIe19 2gaRIR a°gl

(3) wIeea gasaidiel «fae

4) oo e *fae

(5) 299Pe eeaies FIe1A AR
(6) @eex FAae 8 ARIERNINIA
(A) 1,566

B) 2,304

(C) 3,566

(D) 2,465

[P.T.O.
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ements ar€

ing stat ¢
oy e EleCthﬂ

ot of th

(1) Art. 327 gtvesS P
to make provision

elections to Legislaturcs

Besides Chief Elfec':tlor;
Commissioner, tWo Adflltrona
Commissioners Were appomted for
the first time on January 1,1990

2)

mmissioner
0 made the
a Multi-

The Election Co
Amendment Act 199
Election Commission

member body

3)

The decisions in Election
Commission by the members are

made by unanimous vote.

)
(A) 2,3and4
(B)
(©)
(D)

1 only
1,3 and 4

1,2and3

The Impeachment of Indian President in

the Parliament is a

(A) Political Procedure

(B) Legal Procedure

(C) Quasi-judicial Procedure

(D) None of these

acale caa @@Qﬁ::@ AACA Tigq -
aaegaiea OR € ? -

38.

aal 327 Q"Q\@Q;@um AR 3
cuagla SAC! 69R- .

1)

Qe AAISR QAAGAR UG1g o
oGaeas. 929 8] AR 199(
] 6Q AYS FUAIRAN

2)

i

i
3
;

(3) @<IeR AR TSANG ™
adien QAQR] YT ARy

(4) QQI9Q QFARE YRS
QI 6N ARIAER R

(A) 2,364

(B) eeee 1

©)
(D) 1,263

1,364

39. Q'Qe6Q AUIRSR AIFATS A2
(A) QIectoR gl
(B) zieeae gaol
(C) ae-eude gl

(D) 663G g6




.ch of the following statements are
4}}/ nwo?lcorrect in respect of Advocate
General in India?
(1) The Advocate General is the
highest Law Officer of the State

(2) Heis appointed by the Governor on
the advice of Chief Justice of High

Court

(3) He should be eligible to be
appointed as the Judge of a High
Court

(4) He/She should not be more than 65
years of age.

(A) land4
(B) 2and4
(C) 2and3
(D) land3

41. Which of the following statements are
not correct in respect of Private Member
Bill introduced in Parliament?

(1) APrivate Member is any Member
of Parliament other than Member
of Treasury Bench

(2) The Bill of this nature are

introduced and debated only on
Mondays

(3) It’s introduction in the House
requires One Month notice

4 A Constitution Amendment Bill
may be introduced either in Lok
Sabha or Rajya Sabha

(A) 3and4
(B) 2and3
(C) land2
(D) land3

CSP-1/D

40. qieeq AUILERICRE ¢

e RERARS 9T >
3g@e oq 264 9 AAWCYF16Q 609

(2) eseugegq

AM991gga :
aa,‘qisg qu Y aAasE

WML B9 wBaim

(3)
4) ecq 0Q 65 edq 2yg 6ARRYQ
(A) leg
B) 264
©) 283
D) 1e3

c =
4 QeiIBIeaq @oI0a 82919 sQugy

41. 3618 6o e398e 2°a0sa ceaaaial 39
QUYIAR gadea 0Q ged ¢

(1) esa seaaqior aeay, aaaiaice eI
€46Qlad arae

(2) <2 3] QOQIAR 6 2CRIRI 699
6QIFRINER 6RARAN

(3) q26a 92 AAQIAR AR IR AIAR 671TQ
2SR P6Q

(4) 6QIE QAR ACANR R CAIARI QI

QUSIANIER AAFIAR FRIAIRAIER
(A) 364
(B) 263
(C) 162
(D) 163
[P.T.O.
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42. Which of the following statements are

4

\ correct in respect of Anti-Defection

Law?

(1) Anti-defection Law found place in
the Constitution by 52™
Constitutional Amendment

(2) The Tenth Schedule of Indian
Constitution was inserted in the
Constitution in the year 1989

(3) The Anti-defection Law was
reinforced in the year 2002

(4) Ifany Member who is independently
elected joins any political party, he
is not disqualified

(A) 2and4

(B) land3

(C) land2

(D) 3and4

8,

Which of the following statements are

correct in respect of ‘Special Sessions’

in Parliament ?
(1) The term Special Session of

(2)

3)

4)

(A)
(B)

Parliament is defined in Art. 85 of
Indian Constitution
Art. 352 (8)(b) of Indian
Constitution speaks about Special
Sitting of the House of Parliament
The proceedings of both the
Houses of Parliament in special
sessions would be limited
If proclamation of Emergency is
issued when the Parliament is not
in Session, 1/3 of Lok Sabha and
1/3 of Rajya Sabha Members can
ask the President to convene a
Special Session of Parliament
l and 2

2and 3

(C) 2and4

(D)

CSP-1/D
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42.

43.

QReQee Qe6al

a1 2198 9ATEa F6qI9 =11

Q3gee OR ?

(1)
(2)
(3)
4)
(A)
(B)

©
D)

qidiga 52 €A QEARUFER QR QO
deqil 2R gIF I

1989 6a QAUIGR A9 ge! ASYS
IR

2002 6@ @R-9@R QeI 2198 § 21
Qe |

ge esled Qo QRIE WER qQIe
ceIQd6e, 64 64 cad QREa QAIFW

cgea OI& AQAIS! /IR 62991 |

264
163
162
364

Q'qeq oA FNELAR JATER F67I9 699
Q39ee 0 ?

(1)

QIee1a afidiea 2l 856a Q°Qeq
QO] 2YEIAFA AW QF2IAIRT

(2) «ee1a qaILa ¥Rl 352 (8)(¢) 6o
Q°AQQ YOR AAEIRA QAEQS 218

(3) QO] AYERANER A°AR AVD AR
QIdyIeR AT Q6L

(4) Q°QQ 2YERAR RS 696! AT IYN
QAFe 60194 AU, 6069 ERIRANIA
4R QOIAIE B QIRARNIQ 9! GL1AId
deQY QUYATY °AQ Yo7 ANEAIR
2118 AV QL8

(A) 162

(B) 263

(C) 2¢4

D) 163



44.

AST

Which of the following statements are
correct In respect of ‘Dye process of

Law’ and ‘Procedure established by
Law’?

(I)  ‘Due Process of Law’ focuses on
the formal adherence to legal

procedures set by the Government

(I) “Procedure established by Law’

emphasises the protection of
individuals Rights and fairness in

the application of Law and Legal
Proceedings

(A) Tis correct and II is not correct
(B) 1Iis correct and I is not correct

(C) BothIand]II are correct

(D) BothI and II are not correct

Which one of the following is necessary
for Pressure Groups to be effective in
influencing Government Policy?

(A) Large number of Members
(B) Access to media outlets
(C) Money and Expertise

(D) Legal support

CSP-1/D
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44. zi9ea g2id ggal (Due process of Law) @

45.

218 QI 99§e gaie1 (Procedure
established by Law) gagsa deqig cod
@86 0] 7

(D) 2eea g21d gial AeRIes QI gode
RIA YR YL 2QAINE QUER YRS
@4

(II) ‘2Iee Q0 g8Fe gaIRT’ AISRRAIRE]
2IRR B QIR 26 6TGER 6AAINTR
2RI B IROIR VI 9 |

(A) 10Q6IlgR

(B) IIoeclgR

(C) esalcllde

(D) esalcllge

AR YUIGR FEAITAIY YUY 699E
elaeqiq1 (Pressure Group) aig 2iegye ?

(A) 249 Q°§e aeqy

(B)

FaAIYA QAR Q°6QIT

©)

28 6 2886

(D)

diIReae ALl

[P.T.O.



3 qgee 0] ?
/4 Which of the following are correct? 46. 26919 62w OR

¥ Substantive Public Policies are those -

which; gelge QLRRIR f1egee QI12l, QILl:
(1) plan and programme to get things (1) eiduged aid 6QISRI 8 RIL1GA

done

) QaIEe 69IFIAIR AR/ 69|

(2) allocate resources/services to (2) ?;:?QQI A

particular segments of larger

society

(3) FIERLAIRS QI GSIANIES AR U R
(3) directly distribute benefits or costs QeQ
for citizens

(4) 21904 QA6Q QSREI ARSI
(4) impose restrictions on behaviours

N A) 164
. B) 162

(©) 2only (€) eee2
(D) 3 only D) eeee 3

~47. Which of the following policies provide 47.
a Tax refund on all or part of a poor
family’s Social Security Tax?

F6AIY 66T 6T Gde adiciaa QIFIGe
9991 5eQQ 2°8 Q1 ageIa Teq caaiael af

QR 7
(A) Temporary Assistance to needy e ae
families (A) <oge dRIge] AN AN
(B) Eamed Income Tax Credit (B) 2%e z1a0q cga
(C) Food Stamps ©C) @y |8

(D) Supplementa] SECHrity Income (D) =ddg 9eal gig

CSP-1/D 23




4

hich of the statements about Pypjic

policy are Correct? ‘A Public Policy
may be;

(1)
(2)
(3)
(4)
(A)
(B)
(€)
(D)

49.

General or Specific
Broad or Narrow
Positive or Negative
Rational or Irrational
1,2and 4

2,3and4

1,2and 3

1,3and4

Which of the following statements are

_— correct in respect of ‘Distributive Public
Policy’?

(1

)

3)

4)

(A)
(B)
©
(D)

It is also known as ‘Patronage
Policy’

It is meant for specific segments
of Society

It is concerned with regulation and
control of goods and services

It requires little administrative
discretion

1,2and 4
2,3and 4
1,3and 4

1,2and3

CSP-1/D
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48. ?sqag 69 93989 aidede 0B aRegIeR
OR ? 691G QIdede 918 gue ?

49.

(1)
(2)
3)
(4)
(A)
(B)
(©)

(D)

QIRG QI iy
gag QI agoe
QRN U FRAUAS
Q9Q9% QI eQe1e
1,264

2,364

1,263

1,364

619 629 agee ‘Adefe e4p @15’
alegaea O ?

(1)
(2)
3)

4)
A)
(B)
©)
(D)

R Y ‘QYCAITR 91B” RNER ARF?
42l ANINR 54 6AIg1/Qde QIR 9Gg

2! AING! 8 6291 AR B FARE
AP Gy

2l @801 99IA0R T690%! 2IR94Q 26Q
1,264
2,364
1,364

1,263

[P.T.O.



50.

31.

(A) 1,8,65,95

(B) 8,19, 46,102

(C) 19, 46, 65, 95

(D)

SP-1/D

Which of the Articles of Indian
Constitution relating to Fundament'al
Rights are not available to Foreigners 111

India?

(A) Articles 14, 20, 21, 24 and 26
(B) Articles 21, 21(A), 23,25 and 28
(C) Articles 14, 22, 25, 26 and 28

(D) Articles 15, 16, 19, 29 and 30

Which Four Amendments to Indian
Constitution given below are related to
Scheduled Castes and Scheduled Tribes

in India?

List of Amendments to Indian
Constitution:

1, 8,19, 29, 46, 65, 95, 102

1’ 19?29, 65 ‘..

24

50. 9UQQ1G AAUINA AR} ANRIIQ AN 69

. 18

QIR NAEER FCANNNNS AR ARG 65 ¢
(A) e 14,20,21,24 626

(B) aien21,21(A), 23,25628

(C) w14, 22, 25,266 28

(D) uai 15,16, 19,29 630

QRSIA RIS 671 699 IRCTIT Q6N
QAAGA 2AYPe I B YRV ARG ?

AT QAU A°CARID QRS :

1, 8,19, 29, 46, 65, 95,102

(A) 1,8,65,95

(B) 8,19, 46, 102

(C) 19, 46, 65, 95

D) 1,19,29, 65



52./ Which of the following statements
| are not correct in reg

to Privacy’? pect of Right

(1) The Nine~Judge Constitutional
Be.nch that declared ‘Right to
Privacy’ as Fundamenta] Right

was headed by Justice J.S.
Khehar

(2) The Supreme Court of India

gave this historic judgement on
August 24,2018

(3) Justice J.S. Khehar was the

former 42n¢ Chief Justice of
India

(4) He was appointed as Chief

Justice of India in the year 2017
(A)
(B)
©)

2 and 3
1 and 2
2and 4

(D) 3and4

Which of the following is not included
in Art. 19 of Indian Constitution?

(A) Freedom of Speech and Expression
(B) Freedom of Movement
(C) Freedom from Detention

(D) Freedom of Association

CSp-1/D

52.

53.

25

'*Q99 2319’ (Right to Privacy) ansea
Q619 609 QYR 0Q g6 ?

(1) <4aqR 69.99.68219S 2UFICQ G0
? efd AT €8Q10 ‘QIgae
AYRIQ’ 641K 2YKIQ RNUCT 6QITE

Qg6

(2) 2018, 298 24 6a Qe ASI9
MIAILA 1% IR AUD 6QRIYER

(3) QAR 69.9Q.63218 NRER A6SIQ
MIALAR 4200 QY ISR

(4) 69 QIR FHIFRIRAE N6Q 201769
A99 62ARYERN

(A) 263

(B) 162

(C) 2a4

(D) 3a4

FEAIQ 6066 QIGSIA QIR MIGI 190 2859
Q6L ?
(A)

QIR QRIS 8 AUIYRAE

(B) ai6qieea Quuieel (Freedom of
Movement)
©)

ee1g Quueel (Freedom from
Detention)

a*aa Quieel (Freedom of
Association)

D)

[P.T.O.
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54. Geqig @@ Adeiea QITA°A QA ‘dqe

/54' IS “;hic? " ?1;:1 fc;{lilol‘;;nogf:;arcsh;?de' ZR2QIRAS 6AIVEINIA" AGEAITS 6IRAR 9
'Declaration of the Rig
was passed by UNO?
(A) 1949
(A) 1949
(B) 1951
(B) 1951
(C) 1956 (D nie
(D) 1959 () 1209

}5‘ Read the following statement givenbelow | 55. &gage agqee a9 weia 40e Jeg fdy
and choose the correct alternative eQ |

Statement 1- Land degradation is caused

: ) ; 838 1 - Q@< 84 8 9eq4de! 6aIg 9fie 2egg
due to soil erosion and waterlogging K q

Qcar
Statement 2- Deforestation is the major
cause of soil erosion W2-gaaeg ¥ 8% 999 g9d Q1eg
A) Both =
(A) Both are correct A) esg oq
(B) Both are incorrect
(B) esa gq

©) Statement 1 N

statement 2 is incorre
- ©) 920 Q& A -
C 729 0] 6 Qo1g QQ 9n

(D) Statement | e

incorrect
Statemem 2 iS o and

rrect (D) gan 93 QR 8 Jo1g g 0]

CSP-1/p
26




(56.

18 56. @Iaesa 9w Aigise %02 2084 ag8 | veig

A) Inadequate soj] conservation

measures (A) 2999 7891 20na cvegiq zgiq

(B) Overgrazing (B) =ewe clag

(C) Both(A)and (B) C) @wa(A)wer (B)

(D) None of the aboye (D) qge auig seds Q6%

57 “There is a huge loss of valuable nutrients | g7

e 2 : - SI96Q ARiQIe 9§ 6 adagig VAR I
and fertility in Indja» What are the 2298 94 | 9219 QIgg -
reasons for this?
(A) qdeiag
(A) Soil erosion L
2 (B) <daqaeag
(B) Land degradation
: (€) del
(C) Water logging ik
. D) <iggqes
(D) Air Pollution (
P.T.O.
27 [
CSP-1/D |



&8. Which of the following organization

collects every data on poverty in India?
(A) MGNERGA
(B) NSSO

(C) SISRY

(D) None of these

59. Whichofthe following helps to measure

the Poverty Determination?
(A) Poverty Gap Index
(B) Head Count Ratio

(C) SenIndex

(D) All of these

60. In India, which of the following
determines the wage policy?

(A) Productivity
(B) Cost of Living
(C) StandardofLiving

(D) None of thése

CSP-1/D

58.

59.

60.

cae A0S NAGR ATAYY VAER ang
g @6 7

Feall9
gen @

(A) qaeaaaiaed (MGNERGA)
(B) 9/ 8 (NSSO)
(C) 46949 21 1R (SJSRY)

(D) 6aas g6¢

BeqIg AANQ 699 QAIAT QIRQY Adasa Qgiae
62192 7

(A) @I3Qy QIde QeRIS
(B) 98 Q€% 219
(C) 6aq QoIS

(D) aggee

F6QIQ AAUIQ 6990 RG] AIRFAR 616
(wage policy) @¢ga e@aa ?

(A) @QIeeaIRe!
(B) @198 Q€ R
(C) <198 dIQ6Q AR

(D) 6Meds ged



y

P

~

62.

Wh.ich of the following three states in
India are considered the poorest?

(A) Bihar,Madhya Pradesh, Haryana
(B) Jharkhand, Bihar, Uttar Pradesh
(C) AndhraPradesh, Jharkhand, Bihar

(D) Madhya Pradesh, Haryana,
Jharkhand

Consider the following statements about
Atal Bhujal Yojana

(1) Itisconceivedto arrest the rampant
overuse of groundwater in India

(2) Itissupported by the World Bank

It is a sub-scheme under National
Groundwater Management
Improvement Scheme (NGMIS)

3)

Select the correct statements

(A) 2and3

(B) 1and3
(C) land2

(D) Allofthe above

CSP-1/D
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61.

62.

VIPA AQ0IQ AL AR AN 6aW FERIT
QIRY T6RT0 g2 ?

(A) Qeie, Auygeqd, etaiq!
(B) <i1ew4g, 9219, 299 g6ed
(C) zi18ged, gIesg, J21Q

(D) cuigeed, 2tIl, KIeHs

‘UTR YRR ARG ANIER T6YIY ASFER
010 @ |

(1) 2644e Q8% 89 ML 6QIFS AIR
@ 6QI9RI ggO 62108

(2) Qgeue QuIae 919

(3) <Ie10 9O R ATINR TN AN
2AER 121 9@ LACAINE

0Q A18QG fda @R |
(A) 263
(B) 163
(C) 162

(D) @089 @F2

[P.T.O.



63, Which year is known as the year of
demographic divide?

(A) 1921
(B) 1920
(C) 1919

D) 1918

~_64. Consider the following statement (s)
g related to the reasons for low sex ratio.

L High maternal mortality
I Sex selective female abortions
Il. Change in sex ratio at birth
Code:
(A) OnlyI
(B) I&1I
(C) mé&m

(D) L&

CSP-1/D
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63.

64.

6ad odf eaQdyl ANRIA INSE ¥ 6
36900 caIRaM ?

(A) 1921
(B) 1920
(€) 1919

(D) 1918

Aa 29010 /¢ 62QIQ QUG ANGEQ F6YIY
AeigEa GoIR QQ |

L 2yQ qg qgiee

I Q& Fque 989 el gawell
I eal ANDER AT AYAIS AW
6RIq :

(A) eeeel

B) Iwell

(C) IIweelll

(D) 1Mo Il



gider the following statements iy 6@@6
§5 0‘; Jing an aquatic ecosystem : R eﬁ)@
©oreg 4 2
AUIRE . 1
The shallow water zone around the (1) %‘; o L ittora -
(1 edge of the lake s the littoral zone. = oo
’éq = \4
i 2 L'lmﬂetic one 6@ Qed
Limnetic zone 1S the open zone (2) " toplankton
2) where phytoplankton grows in phy ol 28
abundance 1 aq B
(3) profunda @@ gaaerd
X 2
3) Profundal zone is the dark zone caG0I6R

where the light cannot reach.

geqio 6a@ 99
Which of the statements given above is/
are correct? 0 s :
(A) 1only

(B) eaew 20 3
(B) 2and3only

(C) 6eee 180 3
(C) land3only

1,263
(D) 1,2and3 (D)

66. _Which climatic phenomenon is

66. 6QQIA Q8IS AAITAER 6@ AIGAI
characterized by cooler than normal sea

AR AYIR FIANIG! $1BR [
surface temperatures in the central
Pacific Ocean?

(A) el (LaNina)
(A) LaNina

(B) @ @6a1 (El Nino
(B) ElNino )

C

(C) Monsoon ©) igm
(D) - Tomado

D) arge g (Tornado)

CSP_.1/m
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67" W wing Al @19 AR @ Q a9l Qalieg
g AN} B69I9 6@ | ;
e | zﬁ;?sm geql 6 99694 Y14 AIel Qdq o
" it Ot:the ?I) c(i)ia refers to protection
Constitution of In . o
and improvement of environment

ildli A) 39A

safeguarding of forests and wildlife? (A)
() e B) 43A
48A

(B) 43A ©)
(C) 48A ——

(D) S1A

68. T6qI9 cragee gladfie geaa ?
/68 Which of the following are primary

pollutants? (1) Carbon monoxide (CO)

(1) Carbon monoxide (CO)

(2) Sulphur oxides (S 0,)
(2) Sulphur oxides (80,)

(3) Volatile Organic Compounds

(3) Volatile Organic Compounds (VOCs)
(VOCs)
(4) Nitric Oxide (NO)
(4) Nitric Oxide (NO)
(5) CFC' (5) CFC's
S

(6) Radioactive pollutants - (6) Radioactive pollutants
Select the correct answer using the code Qe TaIRIRARI 60Ig Qiegia @ 0 eee
given below Qg |

(A) 1,2,3and 6 only (A) eee91,2,386

B) 1,2,4anq5 only

(B) 6899 1,2, 445
©) 3,454 only

(€) ¢ee93,4,506

-

©) 1,23, 4,5and ¢

(D) 1’ 2’ 3‘:‘45 5 ¢] 6
CSP-1/p
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N

6 Consider the following statements:
\

70.

(1) Meteorological Drought is based

on the impact of rainfall deficits on
the water supply.

2)

Socioeconomic Drought refers to
the impact of drought conditions on

supply and demand of economic
goods.

Which of the statements given above is/
are correct?

(A) 1only

(B) 2only

(C) Bothland?2
(D) Neither 1 nor 2

With reference to cloud seeding,
consider the following statements:

(1) It is a weather modification
technique that improves a cloud’s
ability to produce rain or snow by
introducing tiny ice nuclei into
certain types of subfreezing clouds.

(2) Aluminum hydroxide is the most
common chemical used for cloud
seeding.

Select the correct statement using the
code given below:

(A) 1only

(B) 2only

(C) Bothland2
(D) Neither 1 nor 2

CSP-1/D
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70.

69. [6qIg A8qERa 019 @9 -

(1) adaeee A% sRcaIgigse ediae
gele e6e

(2) Qawe 6 2R AQF ke anga
6QIGE B QT ARG

QU6RI 699 93/9396R 0K 7
(A)
(B)
©
D)

[N=~=0|
crae 2
eea 162

1 @9 2, 6a2G6%

era 9196 (Cloud Seeding) §8ed &g
8geea 019 @Q:

(1) <219 aidaIe QUISQ 6189 QIR 6AQA
Qdl QQe! [ASI QF QI 6AAAIRIQ

A1SRRAE AAR 679 681¢ AT §8 ]
Q6Q

)

210890 2RERIYAARL, 67 NS
€QUAGER gOH AUAATR RS MRIQ
24

30160 QUAINAS! 691§ MR &R AR
QAT QT :

(A)
(B)
(©)

(D) 1732, cedgsd

cqeq 1
6Qee 2

eea 1 62

[P.T.O.



. National Air Quality Index (AQI) is
“launched by the government to monitor
the quality of air in major urban centres
across the country on a real-time basis
and enhancing public awareness for
taking mitigative action. In this context,
consider the following statements:

(1) AQI will have ‘one number, one
colour and one description’ to
inform the public about air quality
in a simple and easily
understandable format

(2) There are six AQI categories,
namely: good, satisfactory,
moderately polluted, poor, very

poor and severe

3)

The index considers eight
pollutants - PM10, PM2.5, NO
$0,CO,0,NHandPb

Which of the statem i
ents given
correct? 8 above are

(A) 2and3only
(B) 1and3only
(C) 1and2only

(D) 1,2and3

CSP-1/p

7

1. deRes Q9 National Air Quality Index
(AQI) goa! xR 6QIQ QS ARABREQ
aia0 AAAIGAIER 6 Q1 FR1AE 8 FRATRS

Qe

ael Al 2R, 4@ gaATER a0 289996

S0 @ |

(1)

)

3)

(A)

(B)

(&)

(D)

AQI 9@ @ail, 9@ e 8 99 Qgal’
caa 9ReIg QIgA AIf AR 8 AR
QUEL 9EIRSIQ gRA

AQI @ 6% oRud, Qell: a8, ACBITSR,
28 9980, 919, 2R SAUA 8 NYE
sug

N2 QIR 2108 geuda S91Q 969 :
PM10, PM2.5,NO,, SO,, CO, 0
NH, 6 Pb a0y

QACAUQ 6aQ 2396Q 6R ?

8RR 263

ReR 163

1,283



f

|
7

the term Decp ecologism? -

(A) A philosophy that believes ip
of humans to minimize the

their relationship with nature

The ability of a population to increase
under ideal environmental conditions is

(A) Natality
(B) Carmrying capacity

(C) Biotic potential

(D) Absolute natality

CSP-1/D
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72. Deep Ecologism' § 36qig 694 937 a6

[T UTY 6T |

(A) <@ ode am 3¢9 968 ol ew
s8owa 88q 0fede ndsq 0deee
o6 89 SR9ER QUAS! SeR

(B) <9 odo 0w 39N 968 0d8, 0leve
Q9 TOEE Oe O8NS S Qan

(€) scag ale 096060 AR QQIOR
9 oG 2evQ

(D) eosag dledd qed

2od 0d69e 29g6a wwaren Qe gag
268 Ve qare 7

(A) wg9e (Natality)
(B) @9eesse (Carrying capacity)
(C) <%= @nss (Biotic potential)

(D) <94 eg9@ (Absolute natality)

[P.T.O.



74 Which disaster is most likely to be

5. Tidal waves are caused by which of the

76.

CSP-1/D

influenced by climate change?
(A) Earthquakes

(B) Tsunamis

(C) Tropical cyclones

(D) Volcanic eruptions

following gravitational interactions?
(A) Sun’s gravitational impact on the
Moon

(B) Earth’s gravitational impact on the

Moon

Moon’s gravitational impact on the
Earth

©)

(D) Earth’s gravitational impact on the

Sun

A square shaped hole is punched in a
metal sheet whose linear thermal
expansion coefficient is 1 x 10~ per °C.
The size of the hole will decrease by
10%, when

(A) The sheet is heated by 10 °C

(B) The sheet is heated by 100 °C

(C) The sheet is cooled by 100 °C

(D) The sheet is cooled by 10 °C
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74. <e<I

75,

76.

g 08cede geIee’ cea QRAIe e

ceieand ?

(A) Qe

(B) Qo€

(C) Qqi8e Qe

(D) 21690 QRIRE

s6qig 699 AuIeda Fa 61 YUIR Q8 ¢4

(A) 9% 906a QUITa AINEa QRIS

(B) o9 @969 92918 AILEa 9NN
(C) qas 296l 98 @ AINES gaIe

(D) Q44 egsa QaeIe AIeda gRIe

4R 199 I¢ Q1218 68Ye 91919, QA°gaIaé
Qee 1 x 10 9@ °C oeuea 49 adioa

88 @098 | 82a 21919 10% 214 IR,
60696969 -

(A) @g10°C Q19 996 24

(B) @¢100°C RI% 9991 29

(C) @ 100°C QA 29l g9

(D) qg\ 10 oC Q|Q| 24| ?:(]



78.

79

Which among the following has the least
thermal conductivity?

(A) metal
(B) semiconductor

©) superconductor

(D) alloy

Symbol of material used in conventional
glass thermometers is

(A) Mg
(B) Hg
(C) Me

(D) Mn

The temperature variation of land near
sea is very less compared to that far from
sea. This is due to

(A) Sunray is not direct
(B) The sea absorbs the heat

(C) Highheat capacity of humid air

(D) .Heat is reflected by the sea

CSP-1/D
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71.

78.

.

Goqlg AANQ 6RAGR AR SI1a adeRe!
ag ?
(A) ug
(B) 2zaadei!
28 atQI!

©)

(D) fguig

QIR°aae Q1o AFIFCREA LS ANYIR gO1R
6208 -

(A) <& (Mg)
(B) e (Hg)
(C) waa (Me)

(D) w9 (Mn)

QAQR0IQ YR6Q QI FRNIT GRAIER FaceR
29l gRAIGA SIAAIGIR FINGFY g6 @6 | 12
Q28 -

(A) Qdideda goua 6L

(B) Qq< @eIaq 68186 e}
21g QIgR 9% QKT FG

©

QeIa QRIS QETRG 621R2N

(D)

[P.T.O.



Mhich of the following statements are

correct in respect of ‘New Criminal
Laws’ enacted by Indian parliament?

| law’ Bharatiya

(1) The new crimina
ffect

Nyaya Sanhita’ came into €
from April 1, 2023

Bharatiya Nagarik Suraksha Sanhita
replaced the Indian Penal Code

shya Adhiniyam
1,2024

(2)

(3) Bharatiya Sak
came into effect from July

(4) The Bharatiya Nyaya Sanhita was

passed by the parliament in
December, 2023

(A) land4
(B) 2and3
(C) 3and4
(D) 2and3

81, Pick up the wrong matching of Brand
Ambassadors for Government led

companies

(1) DiaMirza -  Swachh Saathi

(2) PV.Sindhu -  Pulse Polio

(3) Amitabh - City Compost
Bachchan Campaign

(4) Sachin - MakeinIndia
Tendulkar

(A) land3

(B) 2and4

(C) 2and3

(D) 1 and 4

CSp-1p
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ge1e 6219 ‘QER AR

geae gIal
Bl B : inal Laws) agQi

81.

@ 2023 Ad26R 8%

(1) agm 1 @l : X
gaale YU QUAGIA QIS AL
qidieIql 62!

Qo1 CARIA 6RIQ FIFEA ARG

@
@ Q@I MIQ LI

clgae gedl 9
(3) 1gme 2024 @ QI9c1a AIF Ra’
QiyeIal e2ml

(4) ©62nQ 7023 69 ARG A AL
graqeq A1 62wl

A) le4
(B) 263
(C) 364
(D) 263

d9QIQl JAQIRG QIR 63CE YM U
212/9e@ (Brand Ambassadors) 9@ eae

e |

(1) e de - Qg Q&

(2) 4.8.39 - JRQ 6aIRG8

(3) afiem Qee - Q6 Q6 QYISAR
City Compost
Campaign

(4) e cogaea - 60Q o] 98l
Make in India

(A) land3

(B) 2and4

(C) 2and3

(D) land4 -



82. Which of the following statements are
correct in respect of ‘Earth Rotation Day”

- 20247

(1)

(2)

3)
4)

(A)
(B)
©)
(D)

The Earth Rotation Day 1is
celebrated on January 8" of every

year -
This day is dedicated to |
acknowledging the discovery of
Earth’s shape

This day is also celebrated to
acknowledge Earth’s natural beauty
Honouring the discovery of our
Planet’s movement

2 and 4

1 and3

2 and 3

1 and 4

83. Which of the following statements are
not correct in respect of Sheik Hasina

Wazed, who resigned as Prime Minister
of Bangladesh on August 42024 ?

(1
(2)

(3)

4)

(A)
(B)
(€)
(D)

CSP-1/D

She was the Prime Minister of
Bangladesh for two decades

The students protest against Job
Quota turned into anti-government
agitation

The Supreme Court of Bangladesh
gave a ruling of 30 per cent
reservation in jobs for descendents
of those who participated in 1971
Bangladesh Liberation Movement.
She is the President of ‘Bangladesh

National Party’ supported by
Jamaat-e-Islami

land3
2 and 3

1and?2

2 and 4




/Bﬁ. The Paris-2024 Olymic Medals contain | 84. aydQ-2024 zqfie caeiRQe ceu @%
| metal from which iconic landmark? 9o1ea HIg NIAE Qﬁﬁqr 3

(A) The MontBlanc (A) @ 9e Q< (The Mont Blanc)

(B) The Eiffel Tower (B) @ veaa «1gia (The Eiffel Tower)
(C) TheArc de Triomphe

(D) The Pantheon

85. 2Qfi] AaIA 6986a FETIY 694 ABMY

8/5,. Which of the following statements are
o ?

correct in respect of ‘Olympic Flame’?

(1) 2efiQ AdIQ 62QT 196!, 6EQAIe RIT

(1) The Olympic Flame is the symbol
G Y9 go1e

of Unity, Sportivity, and Victory

(2) 2RfQ A9IR FIER gRAG 62IRaN 9<”
g KEQ0IQ 9898 AGIRUIRANS QI

ZI6QISRRIQ! Q2a6a LB

(2) The Olympic Torch is lit in Greece
and passed from one to the next
torch bearer to reach the hosting

city
(3) 16™<ge 2024 6a 2024 2QFR ASIR

(3) The 2024 Olympic Torch was lit on ggRe caIngal

16% April, 2024
(4) ediRa o8 Qe BAS Q1A ARES 29fe

(4) The modern Olympic Torch Relay AGIN GeR AGQER QAUAIRYN

was conceived by Dr. Carl Diem of

Germany (A) 2,364
(A) 2,3and4 (B) 1,263
(B) 1,2and3 ‘ © 1,364
(C) 1,3and4 (D) ang SIEaRaIR
(D) AllFour

CSP-1/D 40



r
/66.

CSP‘I D

Which of the following statements are
correct in respect of ‘Rashtriya Vj gyan
Puraskar’?

(1)

(2)

©))

(4)

(A)
(B)
©)
(D)

;[}‘his Puraskar wag instituted by
overnment of India ip
b the year

This award is given in four
categories

Vigyan Team Puraskar is given to
five teams

For the year 2024, in the field of
Space Science and Technology

‘Vigyan Yuva Puraskar’ was given
to Four Scientists

land 3
2and 4
2and 3

land 2

}Nhich Bank was included in the 2024
Fortune Global 500 List’ for the first
time?

(4)

HDFC Bank

(B) ' State Bank Of India

©) ICICIBank

©) -Axis Bank

41

86. ‘QqIgia IRIP R’ smgeq 618 cog
A3gee OR ?

87.

(1) <% Qo2UQ KL AT QIal 2023

(2)

3)

(4)

(A)

(B)

©

(D)

AdeIeq gogl eauaIegl

9€ 9eaIq °I6QIF @deq goie
AUAIRAN

aIBd Gaq RS A 9 gee
QAR

ARG IRIL 8 993yl 6agea 2024
Qd a1 913 P4 FERRY W g
gola’ geie ealgawl

163

264

263

162

2024 63 609 NI TR 69I9IR-500 GI1dal
(Fortune Global 500 List) ¢a 284
371

(A) weevgdNg

(B) 696 K 2a Q&2

(C) uedzedzn N

(D) <3q IS

[P.T.O.
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/"88.

89

Which of the following statements are

correct in respect of Union B
2024-257 i

(1)

Total expenditure projected at
Rs. 48.21 Lakh Crore

Receipts excluding Borrowings
Rs. 32.07 Lakh Crore

Fiscal Deficit projected at 6.8 %
of GDP

Net Tax Receipts Rs. 34.83 Lakh
Crore

(A) land2
(B) 2and3
(C) land4
(D) 3and4

(2)
€)

(4)

Which of the following statements are
t of ‘International

correct in respec
Everest Day’- 20247

(1) May 29" of every yearis observc?d
as ‘International Everest Day’ 1n

memory of Tenzing Norgay

This day was first observed by
Nepal in the year 2008 ‘in
commemoration of Tenzing
Norgay who passed away on this
day

Since its inception, this annual
observance has become a global
celebration of human endurance
resilience and the spirit of

exploration
Edmund Hillary was a Swiss
National

(A) 2and4
(B) land2
(C) land3
(D) 3and4

)

3)

(4)

CSP-1/D
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88. gA9A <
cod Aeaigee O] ?

89.

(1) 6AIG @40 26aR 6268 4

2)

3)

(4)
(A)
(B)
©
(D)

2601010 I6REA] oea-2024

cae - 2024-25 a@e

ol

Q8 e1e 999
Qe 6QI6 %1

.6.4.(GDP)
(Fiscal Deficit)

cae aieq 913 348
162
263
164
364

gagea feqis

cad Aegoe aid ?

(1)

2)

€)

(4)
(A)
(B)
©)

coG° ReaS 9,069 geed 6a 29 6
sadiea €6a6ag 2ad Q6o 621N

6oa° qed G4 @9 @@ AQIexs QRYER,
QIed ¢.66a gaen 2008 AdeEa ¥
3eQ 6ROl Il AIFe ELIRYN

<20 gegIeIeq 1€ S1§e a
64y, Q@el 6 A6 @
QIeca 98980 62192198
G019 213 62088 gRFAR1IEQ e
264

162

163

(D) 364




4

90. As per the Data released by Ministry of
Health and Family Welfare, which of the
following States in India topped the
country in Organ Donation in the year
20237

(A) Kamataka
(B) Tamil Nadu
(C) Maharashtra
(D) Telangana

Which of the following statements are
correct in respect of ‘Goldman

Environmental Prize’?

(1)

91.

This Prize was established in the
year 1989 by American couple
Richard and Rhoda Goldman

This Prize is awarded to honour
grassroots environmental leaders
of Global recognition

Prafullah Samantara is awarded this
prize for the year 2024 from India

2)

3)

This prize comprises of a cash prize
of $5,00,000

1 and 2
2and3
2and 4
1 and 4

4)

(A)
(B)
©)
(D)

~ The name of the Artificial Intelligence
(AI) powered News Anchor developed by

the ‘India Today Group’is_____
(A) Sana

(B) Persana

(C) Baani

(D) Anania

43

CSD 1 /'

90. qQigy 8 9G9IA SAYE AgeIen
aiQaQl 62y agaial 2023 ¢ %@‘QQQIQ
aigy 2er@i@ (Organ Donatiop) esaé%
gdieg Q@8 ? 4ea
(A)
(B)
(©)
(D)

Q41D
QARG
A219/§
coemENal

caIRenyIe 9a6ed 9aeia (Goldman
Environmental Prize) 68€69 Feqlg 698

aeeigee 0R ?

(1) <@ 9939 1989 6a 216A3QI8 G0I¢
8 6210l CAINSANIR YRS QeI godl

aIeaRl

qE9Ra 398D adeed gasIeIal gar
QaeAIRe ARIRIEE N7 JAlIa gar

QAN

2024 o Q9 KR IR ANBAY
4@ QelIa goIe QaIQIN8

<@ Qeaiee 28 aid aaald 62a8 5
Q8 eI

162
(B) 263
(C) 264
(D) 164

91.

(2)

3)
(4)

(A)

Q@21 g6e ga Ul 5646 9an 98ae! (AI)

92.
Q§g ARIQ ARER @A
(A) Qe (Sana)
(B) a9Q! (Persana)
(C) < (Baani)
(D) aee (Anania)

[P.T.O.
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P

Which of the following statements are
Correct in respect of ‘ Vantara’?

1. It is national initiative for
afforestation

2. This initiative was launched by
Reliance Industries and Reliance
Foundation

3. It is started in Green Belt of
Jamnagar Refinery Complex,
Haryana

4. Vantara also aspires to become a
leader in wildlife conservation

1and?2
3and 4
2 and 4
1 and3

(A)
(B)
©
(D)

Which of the following statements are
correct in respect of ‘Alliance of Sahel

States’?
(1) Itisa Confederation formed

between three countries namely
Mali, Niger and Burkina Faso

It originated as a Mutual Defence
Pact created on 15" November,

2021
All the three member States are

former members of ‘the East
African Community’.

2)

3)

The Confederation was established
on 6% July 2024

1 and 2
Jand4
2and3
1 and 4

(4)

A)
(B)
(©)
(D)

CSP-1/D

93, ‘epelql aQEgAER q6qIg 699 agigee

94.

o ?
1. QQGQIGG/G‘G"IQQQ AP & 1
Qo160 9e6dd

2. @med a8g] 6 GAINad

3, QIFe9e G @
Refinery Complex
Qeaea Y2l 21a8 @S

4. oaeq es8d 69969 29
QGQl aIe @RSIRI A 9F S

A) 162

(B)
(©)
D) 163

364
264

qceq aIeugeesa 6a¢ (Alliance of Sahel

States) 936g8168 F6QIY 694 ASNYER

o] ?

(1) €IR, 91968 8 97l TI6Al FIAQ &7
68 67Q 12! IR QAR

15 ecana 2021 6@ 42! 9@ AIRQWRR
geasl g8 RIFEa SERIR QAR

(2)

ge a1@ea caIgia 12 R Aoy Qg
62985 gIes A9y

3)

<@ asaeq 6 gaie 202
62NN

162
364
263
164

4)

(A)
®)
(©)
(D)



95. When was Mahatma Gandhi declared
“Father of the Nation”

(A) 20" July 1946

(B) 12" August 1947
(C) 15" March 1948
(D) Never, officially

Mdia, as everyone knows, is a multi-
lingual country. People often know three

or more languages. In this context, which
of the following statements is more
correct?

(A) In India about a quarter of the
population is bilingual; and abouta
tenth is trilingual

In India about half the population
is bilingual; about one fifth is
trilingual.

In India about a third of the
population is bilingual; about a
tenth is trilingual.

In India about three fourths of the
population is bilingual and about a
halfis trilingual. |

(B)
©)

D)

97. Bhatri, Bhuiya, Desia, are analogous to
Bagri, Bhateal, Kahluri

Q. Chakma, Haijong, Raj bangsi

R Awadhi, Bagri, Bhagoria

S. Gujrau, Pattani, Ponchi

5

(A) PandQbut not RandS.

(B)
(©)
(D)

Qand R but not Pand S

R only
P,Q,RandS
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95. AVYGIRIG 6@6E 'RIGA 9% 6 g
1B

96.

97.

QUK
(A) 20 gaia 1946

(B) 1220% 1947

(C) 15015 1948

(D) 2199/a% QI6Q, 66T Q6%

@198, 661 egRIST 644 6QIM QAF16g RN6T |
QoaiIad ARINSS B8 @ 2@ KTI 1eLIR
Qa8 | 4@ afegaiea G6dI9 6ea Q98 0%

gee ?

QGG SRT°UIQ IR 6QIIHERIR YRITT;
q9° e @9A°8 Gl

(A)

QUQe 90°SIa g6 2 YRIT; gIA 99
qgaIre GRS

(B)

QIS FRAHIIR I O19I°8 TRIST; IS
Q@ Q@aAId a1

©

Q06 FeQIQ o7 egdra el 8
gia 21 geua

(D)

eg1, 9al, 6edal 699 gp 92 aed ?

P. Qg SI66R, Q2

Q
R.
S,  qe9Ia, aeIa, [l

oA, 2GS, QRS

g, @191, QueaItel

(A) PaQagRaS e

(B)
(®)
(D)

QeRﬁquSQsé“
eea@ R

P,Q,R8S
(P.T.O.



98. @eQ @@ (1940) ¥ q am 7

_%8. What was the Lahore Resolution (1940)

5
g (A) GRAASIRS 26 Q@ g QAT

(A) A united homeland for Muslims o :
B) W0 QR 9N W

(B) Supporting the British war effort Mg
(C) BRER YRV A
(C) Demand for linguistic provinces
D) @0 ]
(D) Allofthe above

! P = AR QR QAAER
99. The demand for linguistic provinceswas | 99. SI8RSR AT e

first floated to ensure that CRIYM
(A) People speaking a particular (A) Q&
language got recognition. QAR

(B) For bringing the administration

(B) &LARS Q
closer to the people.

(C) To promote linguistic division of () IR AW

India.

D) eel68 W

(D) To reduce conflict within the
country.

100, QUIRKD. &_

100, The British East India Company
QRIR [AOQ

considered itself to be the paramount

power in India after

@) W

(A) Defeating Sindhiain 1803

i | ®)

(B) Signingatreaty with Ranjit Singh
in 1809

() Defeating Bhonsale in 1818 (

(D) Suppressing the uprising of 1837

CSP-1D A



